JTLEUCLIL

DIE HANDWERKER-MASCHINEN - WELTWEIT 1 NLASSE

Modell 4105 KB
Diamantschneider

Bestellnummern

Modell 4105 KB

S L~ WS —
mmmmommmmMhm T

.

I‘J_-__'__——-
OO0~ NN i -
mmmommn MM

‘w1 1D 1D 192 1D 1D 2 1V IV
O X I E W —
Mmoo Tomhmmmmmnm

P it d D
g ad |
1 I 1)

IS E
6 E
37Tk
38 E
Lk
40 E

41 E
42 E
43 E
44 E
45 E
46 E
47 E
48 F
49 E
S50 E

251812-6
155463-6
265226-3
224081-2
911131-9

224080-4
315360-0
321383-8
254011-9

‘‘‘‘‘

211106-1
962151-6
221692-4
961052-5
212019-9
411301-5
122191-8
262018-1
042151-2

934301-3
953106-2
854596-1
911263-2
1563G0-7
181030-1
643600-9
522533-0
411902-9
263002-9

211031-6
681613-2
312923-5

961052-5
253748-5
211101-1
263002-9
685700-9
682504-0)

P-1291¥

687000-3
911131-9
155921-2
421142-1
651236-0

645006-7
951222.4

— i -

168089-5
251919-8

SCHRAUBE M5X10
GEHAUSEABDECKUNG
SCHRAUBE M6X17
SPANNSCHEIBE 36
KOMBI-SCHRAUBE M4X 18

AUFNAHMEFLANSCH
GETRIEBEGEHAUSE
SPINDEL

KEIL NR. 4

SCHEIBE 12
RILLENKUGELLAGER 6201LLB
SICHERUNGSRING R-32
STIRNRAD 40
SICHERUNGSRING S§-12
NADELLAGER 79
VERSCHLUSSSCHIENE
STAUBSACK

GUMMIRING 26

FEDERRING 6

FLUGELMUTTER M6

TYPENSCHILDBEFESTIGUNG 0-5

TYPENSCHILD
KOMBI-SCHRAUBE M5X40
MOTORGEHAUSE
KOHLEBURSTEN CB-100
BURSTENKAPPE 6-10
FEL.D

FELDABDECKUNG
GUMMISTIFT 4

RILLENKUGELLAGER 603LLB
ISOLIERSCHEIBE
ANKER INKL. 3t, 32, 35-37

SICHERUNGSRING S-12
UNTERLAGSCHEIBE 12
RILLENKUGELILAGER 6001LLB
GUMMISTIFT 4
SCHAUMGUMMI
KNICKSCHUTZ. 10)-85

ANSCHLUSSLEITUNG 2X1,50
KABELKLEMMPLATTE
KOMBI-SCHRAUBE M4X 18
GRIFFSCHALE |
STAUBSCHUTZ

SCHALTER C2ZM-MIT
KONDENSATOR
SPANNSTIFT
SAGETISCHPLATTE
SCHLOSSSCHRAUBE M6X20

5t E 157540-0
S32E 9111131
53 E 162097-8
5 E 911143-2
55 E 911288-6

56 E 652603-2 .

57 E 414288-0

GETRIEBEGEHAUSE
KOMBI-SCHRAUBE M4X10
RING

KOMBI-SCHRAUBE M4X22
KOMBI-SCHRAUBE M5X65
UBERLASTSCHUTZ
ABDECKUNG

E=Ersatztcile  Juli '99
Z=Zubchor Modell 4105 KB




